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— WIPR 11297 RNYVTN
He is w7p»n based on the approval of the Rabonon

OVERVIEW

The X3 explains that notwithstanding the fact that 7°v>32 01X v, and therefore if
the "Xin was fulfilled only because of an 01X, the vi should be invalid (and the
woman remains an ¥°X NWX), nevertheless because of the concern of My1I¥Y MXI1d,
we maintain Pv°32 01X X and the va is valid (and the woman is no longer an nwWX
v°X) and the 7127 uproot the Xn>71X7 717°P; the 1327 have the power to do this since
WTPn 11277 RNYIR WIpn 93, and the husband leaves it up to the 1321 to either sustain
or nullify his marriage as they choose. m»oIn explains how we see that a person is
11277 RNVIR WIPA.

2oNYN NWN NI PYITH NYYA DIIIN Y)ab
Therefore the husbands say at the time of the w17p that the w17p are being
performed according to the laws of 7w» and Y8,

SUMMARY
We say 28w 7wn N2 by Pwip to explicitly acknowledge that we are XnyTR w7pn
11277.

THINKING IT OVER
What would be if one did not say 2R 7wn 072 would the ruling of 12 D1IR PX
apply to this marriage? What is if he said (at the time of w17p or later) that he was
not 11377 RNYTR WIpn?’

' The word 12 implies that since w7pn 13277 XNYTX WTpnT 93, therefore we implement that he should say it, but
(seemingly) it does not mean that since he says it therefore he is 11277 ¥ny7X w7pn. See ‘Thinking it over’.

* Seemingly the word 2%, indicates that he is 73277 XnYTR WTpn.

? See 'n M 7",
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